Worksheet

Three-way Randomized Groups ANOVA
	
	c1
	
	c2
	
	c3

	
	a1
	a2
	a3
	
	a1
	a2
	a3
	
	a1
	a2
	a3

	b1
	1
	2
	1
	
	1
	1
	1
	
	2
	1
	2

	
	1
	1
	2
	
	2
	1
	2
	
	2
	1
	2

	b2
	1
	2
	5
	
	1
	2
	1
	
	1
	1
	2

	
	2
	4
	6
	
	1
	1
	2
	
	2
	1
	1

	b3
	2
	6
	9
	
	1
	6
	8
	
	1
	2
	2

	
	1
	6
	8
	
	1
	5
	10
	
	2
	2
	1

	
	
	
	
	
	
	
	
	
	
	
	

	ABC Matrix 

(cell sums for 3-way interaction)

	
	c1
	
	c2
	
	c3

	
	a1
	a2
	a3
	
	a1
	a2
	a3
	
	a1
	a2
	a3

	b1
	2
	3
	3
	
	3
	2
	3
	
	
	
	

	b2
	3
	6
	11
	
	2
	3
	3
	
	
	
	

	b3
	3
	12
	17
	
	2
	11
	18
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	2-way matrices

	
	A x B
	
	A x C
	
	B x C

	
	a1
	a2
	a3
	
	a1
	a2
	a3
	
	c1
	c2
	c3

	b1
	9
	7
	10
	c1
	8
	21
	31
	b1
	8
	
	

	b2
	8
	11
	17
	c2
	7
	
	
	b2
	
	8
	

	b3
	8
	27
	38
	c3
	10
	
	
	b3
	
	
	10


Marginal Sums

A1 = 25
A2 = 

A3 = 

B1 = 26
B2 = 36
B3 = 

C1 = 60
C2 = 

C3 = 

Other Info

T = 135
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Main Effects
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2-way interactions
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3-way interactions


[image: image4.wmf](

)

(

)

(

)

(

)

(

)

(

)

(

)

2222222

2

2222

2333

ABC

ABCABACBCABC

T

SS

ncnbnanbcnacnabnabcn

=---+++-=

++++

-

åååååååååååååå

L


Error


[image: image5.wmf](

)

2

2

/

SABC

ABC

SSY

n

=-=

åå

å


Total


[image: image6.wmf]2

2

ABC

T

SSY

abcn

=-=

å


Degrees of Freedom
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	Source
	SS
	Df
	MS
	F

	A
	
	
	
	

	B
	
	
	
	

	C
	
	
	
	

	AB
	
	
	
	

	AC
	
	
	
	

	BC
	
	
	
	

	ABC
	
	
	
	

	S/ABC
	
	
	
	

	Total
	
	
	
	


_1158012362.unknown

_1158013762.unknown

_1158014234.unknown

_1158014583.unknown

_1158013948.unknown

_1158013685.unknown

_1158007263.unknown

_1158012272.unknown

_1158005112.unknown

